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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

. Group - A
1. Answer any five questions : 5x2
(a) Define DBMS.
(b) Differentiate between schema and instance.
{c) What do you mean by data inconsistancy ?
(d) Define nommalization.
(e) What is the utility of DDL ?
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(2)

(f) Describe lossless join decomposition.
(g) What is a view ? Explain,
(h) Give an example of many to many relation ?
Group - B
2. Answer any four questions : 4x5

(a) What is the difference between physical data
independence and logical data independence?
What is entity? 342

(b) Define key constraints and entity integrity
constraints. What is cascading delete? 3+2

(c) What is NULL ? What is its importance ? How
are these values handled in relational model ?
1+2+2

(d) Explain the E-R diagrams in respect of data base
design. 5

(e) Hlustrate different type of join in SQL.

(f) Write a short note on relational data model.



(3)
Group-C

3. Answer any one question : 1x10

(a) What is anomaly? What are the different types

of anomalies during data base design? Explain
each type with proper example. What is full
functional dependency? 2+6+2

(b) Consider the schemas
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Student (Name, Roll-No, Reg-No, DOB, Dept)
Marks (Roll-No, Part-1, Part-2, Part-3, Division)
Answer the following query :

(i) Find the total marks of each student with
the sum of Part-1, Part-2 and Part-3.

(SQL)

() Find the name, Roll-No, Reg-No and dept
of those students who got first class. (SQL)

(iit) Find the students who failed in the Botany
dept. (SQL)

@) Update the Part-3 marks of the student of
Roll-No 'VU/20/110' to 123. 2Vsx4
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(4)
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(5)
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(6)

(®) =R schema off ATATF Quary ofm
Tea e |

Student (Name, Roll-No, Reg-No, DOB, Dept)
Marks (Roll-No, Part-1, Part-2, Part-3, Division)

@) Part-1, Part-2 @33 Part-3 O3 AIFTEE Total-
q 4 | (SQL)

() Gf% 7 Student (2 Name, Roll-No, Reg-No,
dR Dept (A8 AT 1st class (ATITR! (SQL)

(i) Botany Dept @ Al Fail S0 SITMS Details
ot | (SQL)

(iv) (¥ Student 99 Roll-No, "VU/20/110" <19 Part- _

3-4% Marks Update 33 123 31 ¥ x8



